
 
 

 
 

Future of 1p and 2p coins rescued amid backlash 

World renowned physicist Stephen Hawking  
has died at the age of 76. 

Chelsea settle Stamford 
Bridge redevelopment dispute 

Stephen Hawking: Visionary physicist dies 

 
 

The Dutch company, Pal-V, has just launched its first flying car on to the market. It's  
a compact three-wheeler, which it says can offer sporty performance on the road  
then take to the air using a  
set of extendable rotors. 
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Chelsea can start work on a new £1bn  
stadium at Stamford Bridge after settling  
a dispute with a neighbour who objected to  
the construction. 

by Cdmasterworks Ltd 

The Government has signalled 1p and 2p coins won't be scrapped - a day after the  
Treasury announced a consultation on their use. The Treasury document noted how  
60% of 1p and 2p coins are only used in a transaction once before leaving circulation,  
with coppers then either saved or, in 8% of  
cases, thrown away. 

Mr. Hawking died on what  
would have been Albert  
Einstein’s (another very famous physicist)  
139th birthday. Mr. Einstein was also 76 at  
the time of his death. 

The British scientist was  
famed for his work with  
black holes and relativity,  
and wrote several popular  
science books including  
A Brief History of Time. 

How old was Stephen Hawking when Albert  
Einstein died? 

The new stadium is expected to take  
4 years to construct. 

The average price of a Chelsea season ticket  
is £860.  
How many  
season tickets  
would  
Chelsea need  
to sell in  
order to pay  
for their new  
stadium? 
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Own your own flying car – for only £268 000! 

TRANSPORT 

The distance from Glasgow  
to Aberdeen is 145 miles.  
Aberdeen to Edinburgh is  
127 miles and Edinburgh to  
Dumfries is 72 miles. 

Could the car fly this journey  
in a single trip? Give a reason  
for your answer! 

Eric saved up 1080 coins in his coppers jar.  
He had twice as many 2p’s as he had 1p’s. 

(a)   How many of each coin did Eric save up? 

(b)  How much money did Eric save in total? 


